

JOE CATTELL, PE, PS Geauga County Engineer

August 8, 2019

Russell Township Board of Trustees c/o Karen Walder, Fiscal Officer 8501 Kinsman Road Novelty, OH 44072

Reconstruction of County Line Road, TR 93 Russell Township & Village of Hunting Valley

OPWC Project # DGU11 Pay Application No. 1

### Dear Trustees:

Enclosed please find the documents related to the payment of the first invoice for the above referenced project. This office recommends payment of the invoice in the amount of \$522,213.91 to TRAX Construction Co. We recommend that no request of OPWC funds be made with this pay application.

We have provided a detailed breakdown of actual project construction costs, as outlined in the Construction Cost MOU.

Certified payroll reports for this project will be sent electronically. Should you have any questions regarding this invoice or the items included herein, please let me know.

Sincerely,

Joe Cattell, PE, PS Geauga County Engineer

Nicholas J. Gorris, PE Deputy Engineer

Enclosure File cc:

12665 Merritt Road

Chardon, Ohio 44024

440.279.1800

f 440.285.9864 http://co.geauga.oh.us/Officials/Engineer

gce@co.gcauga.oh.us

General Francis Elifton

Contractor Trax Construction Co. 30701 Euclid Ave. Wickliffe, OH 44092 Owner Russell Township 8501 Kinsman Rd. Novelly, OH 44072 Project: The Reconstruction of County Line Road

	Item No.	
Contract Performance Bond and Premium     Clearing and Grubbing, As Per Plan     Under Contract	Description	PAY REQUEST #1
1.00 LUMP	Qty Unit Unit Price	Through August 2, 2019
35,000.00 70,389.90		2019
35,000.00 35,000.00 70,389.90 70,389.90	otal	
\$0.00 \$0.00	Previous Period Complete Quantity	
1.00 35,000.00 0.85 59,831.42	Complete This Period	Lande Bin
35,000.00 59,831.42	Total Complete Complete	* .
1.00		

																															No.
29 Guardran, Type MGS	28 (T=Veriable)	27 Per Plan	Preparing Subgrade For Shoulder Paving, As	26 Pre-Grind, 12 Inches Deep (Min)	25 Mixture Design for Chemically Stabilized Soils	24 Cement Stabilized Subgrade, Extra Volume	23 (Min)	Cement Stabilized Subgrade, 12 Inches Deep	22 Porlland Cement	21 Subgrade Compaction (Drives)	20 Subgrade Compaction	19 Proof Rolling	18 Excavation (Drives)	ir Excavation, As Per Plan	To empanyment, As Per Plan	16 The Total Misc.: Brick Walk	15 December 1918C., Storie wear	14 Pompial Microschall Mail Card Hes	13 Compared Manage Princed Tipe	10 Cate Removed For Reuse, As Per Plan	14 Racco Damourd Co. David A. D. Co.	10 Calch Darin Dominous	o ripe kemoved, 24° and Under	o Concrete Barner Reinoved	7 Concests Border December	6 Stene Romoved	5 Walk Democrat	A Description Notifice and A Description Notifice A Description	2 Hooding and Gracery, we ret right	Contract Performance Bond and Premium     Clearing and Crushing As Res Plan	į
1,262.50 FEET	787.00 SY	363.00 STA		35 467 NO SY	1.00 LUMP	455.00 CY	41,565.00 SY		1 355 00 TON	2,469,00 SY	45,307.00 SY	32.00 HOUR	473 00 CY	17,053.00 CY	6,307.00 CY	33.00 SF	93.00 FEET	49.00 FEET	15.00 FEET	380.00 FEET	26.00 EACH	933.00 FEET	4,529.00 FEET	87.00 FEET	1.00 LOMP	32.00 SF	104.00 SY	5.00 EACH	1.00 LUMP	1.00 LUMP	Qty Unit
17.00	10.00	55.00	6.00	s 3	15.928.00	5.00	3.00	104.00	£4.00	100	1.00	100.00	10.00	10.00	12.00	50.00	22.00	10.00	55.00	13.00	485.00	3.00	8.00	8.00	1,500.00	2.00	12.00	575.00	70,389.90	35,000.00	Unit Price Tota
21,462.50	7,870.00	19,965.00	0,504.00	70 024 00	15.928.00	2,275.00	124,695.00	200,070.00	309 070 00	2 469 00	45,307.00	3,200.00	4,730.00	170,530.00	75,684.00	1,650.00	2,046.00	490.00	825.00	4,940.00	12,610.00	2,799.00	36,232.00	696.00	1,500.00	64.00	1,248.00	2,875.00	70,389.90	35,000.00	
\$0.00	\$0.00	\$0.00	\$0.00	9 60	SO 00	\$0.00	\$0.00	\$0.00	\$0.00	80.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	Previous Period Complete Quantity
															38.00		14.00	49.00		162.00	10.00		1594.00					3.00	0.85	1.00	₹ }
0.00	0.00	0.00	0.00	0.00	0 0	0.00	0.00	0.00	0.00	0.00	0.00	3	0.00	0.00	456.00	0.00	308.00	490.00	0.00	2,106.00	4,850.00	0.00	12,752,00	0.00	0.00	0.00	0.00	1,725.00	59,831,42	5,000.00	Complete This Period T
0.00	0.00	0.00	0.00	0.00	0.00	0.00	0 00	0.00	0.00	0.00	0 00	3 5	0.00	0.00	456.00	0.00	308.00	490.00	0.00	2,106.00	4,850.00	0.00	12,752.00	0.00	0.00	0.00	0.00	1,725.00	59,831.42	35,000.00	Total Cty.
0.00	P 00	0.00	0.00	0.00	0.00	0 00	9	0.00	0.00	0.00	0.00	9.90	0.00	0 00	38.00	0.00	14.00	49.00	0.00	162.00	10,00	0.00	1594.00	0.00	0.00	0.00	0.00	3.00	0.85	1.00	tal Qty.

70 24 Conquit, Type A	59 18" Conduit. Type D								61 12" Conduit, Type A			58 6" Bosc Pipe Underdrains, As Per Plan	57 6" Conduit, Type F For Underdrain Outlets	56 Full Height-Headwall, As Per Plan	55 Cuncrete Masonry	54 Stormwater Pollution Prevention Plan	53 Rock Ditch Check, Type C With Filter	52 Filter Fabric Ditch Check	51 Inlet Protection, As Per Plan	50 Construction Seeding And Mulching	49 Parimeter Filter Fabric Fence	48 Slope Erosion Protection	47 Mowing	46 Water	45 Lime	44 Commercial Fertilizer	43 Inter-Seeding	42 Repair Seeding And Mulching	41 Topsall, Furnished And Placed	40 Soil Analysis Test	39 Seeding And Mulching, Class 1	38 Rock Channel Protection, Type C with Filter		36 Mailbox Support	35 Monument Assembly	34 Dust Control. Stabilization, As Per Plan	33 Gas Valve Box Adjusted to Grade	32 4" Concrete Walk	31 Anchor Assembly, MGS Type T	:
187.00 FEET	222.00 FEET			40.00 FEET	835.00 FEET	1,056.00 FEET	340.00 FEET	893.00 FEET	70.00 FEET	100.00 FEET	100.00 FEET	15,869.00 FEET	480.00 FEET	1.00 EACH	17.60 CY	1.00 LUMP	40.00 CY	1,000.00 FEET	34.00 EACH	21,340.00 SY	4,100.00 FEET	29,665.00 SY	370.00 MSF	236.00 MGAL	8.60 ACRE	6.00 TON	2,134.00 SY	2,134.00 SY	4,403.00 CY	5.00 EACH	43,341.00 SY	42.60 CY	59.00 EACH	10.00 EACH	26.00 EACH	10.30 MGAL	1.00 EACH	34.00 SF	1.00 EACH	
86.00	72.00	72.00	79.00	76.00	83.00	72.00	72.00	72.00	79.00	7.00	6.00	11.00	8.00	2,000.00	1,000.00	15,000.00	100.00	7.00	85.00	0.70	2.00	2.00	2.00	50.00	100.00	350.00	0.50	1.00	15.00	375.00	1.00	100.00	125.00	79.00	500.00	500.00	25.00	10.00	1,200.00	10000
16,082.00	15,984.00	4,608.00	21,093.00	3,040.00	69,305.00	76,032.00	24,480.00	64.296.00	5,530.00	700.00	600.00	174,559.00	3,840.00	2,000.00	17,600.00	15,000.00	4,000.00	7,000.00	2,890.00	14,938.00	8,200.00	59,330.00	740.00	11,800.00	860.00	2,100.00	1,067.00	2,134.00	66,045.00	1,875.00	43,341.00	4,260.00	7,375.00	790.00	13,000.00	5,150.00	25.00	340.00	1,200.00	30,000.00
\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00			\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	40.00
80.00			196.00		708.50	729.00	47.00	659.90							1:3.6 12:97	1.00			4.00		1035.00											32,40								
6,880.00	0.00	0.00	15,484.00	0.00	58,805.50	52,488.00	3,384.00	47,512.80	0.00	0.00	0.00	0.00	0.00	0.00	12,970.00	15,000.00	0.00	0.00	340.00	0.00	2,070.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	3,240.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00
6.880.00 80.00	0.00	0.00	15,404.00	0.00	58,805.50	52,488.00	3,384.00	47.512.80	0.00	0.00	0.00	0.00	0.00	0.00	12,970.00 13,	15,000.00	0.00	0.00	340.00	0.00	2,070.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	3,240.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00
80.00	0.00	0.00	196.00	0.00	708.50	729.00	47.00	659.90	0.00	0.00	0.00	0.00	0.00	0.00	CC 12.97 15.12	1.00	0.00	0.00	4.00	0.00	1035_00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	32.40	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00
															13	,	- 14 - 14	110	9.4																					

103 Valve Box Adjusted to Grade	102 Fire Hydrant Removed	101 Class 52		100 Salvaged Brick Pavers	99 Longitudinal Joint Adhesive	98 Compacted Aggregate. As Per Plan	97 Curb, Type 2A (Drives)	96 Curb. Type 6. 8 Inch Reveal, As Per Plan	95 Curb, Type 6, As Per Plan	6" Non-Reinforced Concrete Pavement, Class 94 QC MS	2" Asphall Concrete Surface Course, Type 1, 93 (448), PG64-22 (Drives)	1.75" Asphall Concrete Intermediate Course, 92 Type 2, (448), PG64-22	Asphalt Concrete Intermediate Course, Type 1, (448) (As Directed By The Engineer, 0" Min.), 91 PG64-22	1.25" Asphalt Concrete Surface Course, Type 1, 90 (448), PG64-22	2" Asphall Concrete Intermediate Course, Type 2, (448), PG64-22	1° Fine Graded Polymer Asphalt Concrete, 88 Surface Coursc. Type B, PG76-22M	87 Tack Coat	86 QC MS	Concrete Base Misc : 6" Concrete Base Class	85 6" Accrecate Base (Drives), As Per Plan	3" Asphall Concrete Base, PG64-22, As Per 83 Plan (Drives)	3" Asphalt Concrete Base, PG64-22, As Per 82 Plan	or Pavement Kepair, As Per Plan	80 Miscellaneous Metal	/9 Manhole Reconstructed to Grade	78 Manhole Adjusted to Grade	77 Manhole No. 3	76 Catch Basin, No. 2-3		74 Catch Basin, No. 2-2A	73 Catch Basin, No. 6	72 Cuyahoga County Catch Basin CB-3C	71 24" Conduit, Type B
75.00 EACH	6.00 EACH	1,294.00 FEET		29.00 SY	3,374.00 LBS	715.00 CY	40.00 FEET	334.00 FEET	4,114.00 FEET	90.00 SY	166.00 CY	82.D0 CY	18.00 CY	63.00 CY	2,664.00 CY	1,414.00 CY	6,054.00 GAL	29.00 SY	380,UU CY	303.00 CY	231.00 CY	3,719.00 CY	250,00 SY	1,000,00 LBS	2.00 EACH	2.00 EACH	9,00 EACH	4.00 EACH	9.00 EACH	1.00 EACH	2.00 EACH	18.00 EACH	55.00 FEET
75.00	800.00	155.00		51.00	2.00	50.00	17.00	14.50	14.00	65.00	250.00	200.00	200.00	250.00	115.00	173.00	2.00	72.00	60.00	60.00	203.00	105.00	70.00	2.00	1,000.00	675.00	3,100.00	2,700.00	2,600.00	2,500.00	2,500.00	2,500.00	80.00
5,625.00	4,800.00	200,570.00		1,479.00	6,748.00	35,750.00	680.00	4,843.00	57,598.00	5,850.00	41,500.00	16,400.00	3,600.00	15,750,00	306,360.00	244,622.00	12,108.00	2,088.00	33,960.00	18,180.00	46,893.00	390,495.00	17,500.00	2,000.00	2,000.00	1,350.00	27,900.00	10,800.00	23,400.00	2,500.00	5,000.00	45,000.00	4,400.00
\$0.00	\$0.00	\$0.00	,	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0,00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
																							210.30				7.00		3.00	1.00		6.00	50.00
0.00	0.00	0.00	9	000	0.00	0.00	0.00	0.00	0.00	0.00	0,00	0.00	0.00	0.00	0.00	0.00	0.00	0,00	0.00	0.00	0.00	0.00	14,721.00	0.00	0.00	0.00	21,700.00	0.00	7,800.00	2,500.00	0.00	15,000.00	4,000.00
0.00	0.00	0.00	8.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0 0	8	0.00	0.00	0.00	000	0.00	0.00	0.00	0.00	0.00	14,721.00	0.00	0.00	0.00	21.700.00	0.00	7.800.00	2.500.00	0.00	15.000.00	4.000.00
0.00	000	0.00	0.00	9 6	000	000	000	000	0.00	0.00	0 00		8	0.00	0 00	0 00	00.0	0.00	0.00	0.00	0.00	0.00	210.30	0.00	0.00	000	7.00	000	a00	1 00	0.00	6.00	50.00

257 VIII F	9507 5000	LINE ITEM TTL						OF THE CHANGE ONDERS
	567,593.32	567,593,32		\$0.00	3,928,563.70			ABBOOKER CHARLES CONTROL
0.90	66,603.40	00,000.40	c.					TOTALS
0.55	00,203.20	69 602 40	0.90	\$0.00	76,226.00	76,226.00	1.00 LUMP	134 Mobilization
0.00	68 203 20 20 20 83	68 203 20	0.65	\$0.00	104,928.00	104,928.00	1.00 LUMP	133 Construction Layout Stakes and Surveying
0.00	9	0.00		\$0.00	5,250.00	875.00	6.00 MONTH	133 Construction 1 St. 1
0 50	19,809.50	19,809.50	0.50	\$0.00	39,619.00	39,619.00	1.00 LUMP	Field Office Time A
8.00	280.00	280.00	8.00	\$0.00	3,675.00	35.00	105.00 MGAL	131 Maintaming Traffic
0.00	0,00	0.00		\$0.00	17,500.00	25.00	105 00 CY	130 Water
0.00	0.00	0.00		\$0.00	2,040.00	60.00	34.00 CY	129 Traffic Compacied Surface Type of
0.00	0.00	0.00		\$0.00	134,014.00	74.00	1,811.00 SF	128 Granular Embankmant Turo 6
0.00	0.00	0.00		\$0.00	5,433.00	3.00	1,811.00 SF	127 Retaining Wall Mice : Mediter State (at-1)
0.00	0.00	0.00		60.00				Retaining Wall, Misc.: Stone Essence Post
0.00	0.00	0.00		\$0.00	12.000 00	60.00	200.00 CY	125 Porous Backfil With Geolextlle Fabric
0.00	0,00	0.00		\$0.00	6,426.00	18.00	357.00 CY	Unclassified Excavation
0.00	0.00	0 9		\$0.00	2,177.00	7.00	311.00 FEET	Stop Line
0.00	0 99	0.00		\$0.00	18,700.00	5,000.00	3.74 MILE	122 Center Line
0.00	0.00	0.00		\$0.00	19,040.00	2,800.00	6.80 MILE	121 Eoge Line, 4"
3	200	0.00		\$0.00	22.00	11.00	2.00 EACH	Cisposal
0.00	0.00	0.00		\$0.00	294.00	0.00		Removal of Pole Mounted Post Sign and
0,00	0.00			k	3	,	AG OO EACH	Removal of Ground Mounted Post Support and 119 Disposal
0.00	0.00	0.00		\$0.00	693.00	11.00	63.00 EACH	118 Removal of Ground Mounted Sign and Disposal
9.00	0 0	000		\$0.00	5,526,00	15.00	368.40 SF	Sign, Flat Sheet
0.00	0.00	0.00		\$0.00	400.00	25.00	16.00 EACH	116 Sign Pust Reflector
0.00	0.00	0.00		\$0.00	1,048.30	11.00	95.30 FEET	115 Street Name Sign Support, No. 3 Post
0.00	0.00	0.00		\$0.00	848.00	10.00	84.80 FEET	114 Ground Mounted Support, No. 3 Post
0.00	000	0.00		\$0.00	4,005.00	9.00	445.00 FEET	113 Ground Mounted Support, No. 2 Post
0.00	0.00	0.00		\$0.00	350.00	25.00	14.00 EACH	112 Removal of Dolineator
0:00		<b>3</b> .		6000	4.375.00	875.00	5.00 EACH	111 Connection, Short Side, Complete
7.00	0.00	0.00		\$0.00	2,500.00	2,500.00	1.00 LUMP	110 Misc. As-Built Water Main Drawings
	7, 259	9.283.50	1.00	\$0.00	9,284.00	9,284.00	1.00 LUMP	Department Charges
0.00	0.00	0.00		\$0.00	1,000,000	0,500.00		Water Work Misc.: City of Cleveland Water
0.00				8	41 600 00	3 200 00	13.00 EACH	extendrationten And Adjust Hydrant to Grade, 108 Straight Type
0.00	0.00	0.00		\$0.00	7,000.00	1,000.00	7.00 EACH	107 Fire Hydrant Adjusted to Grade
3	200	0.00		\$0.00	48,600.00	8,100.00	6.00 EACH	
0.00	0.00	0.00		\$0.00	4.800.00	1,600.00	3.00 EACH	Furnishing And Setting 6* Hydrant Complete.
0.00	0.00	0.00		\$0.00	1,350.00	0/5,00	, 100 E	12" Cutting-In Sleeve, Valve and Valve Box,
				}		675 00	3 20 EACH	104 Grade (Cleveland)

PENDING CHANGE ORDERS
2 (7/15/19) 12" Slorm at Mather Lane
3 Credit for Use of #304 LS in fleu of LSM Backfill 4 Slump Removal Total: TBD 1165.97

1.00 LS

1165.97

Approved By:

Nick Gorris, Geauga County Engineer

Date:

TOTAL DUE	Less Previous Payments	Less Inspection		Retainer - 8%	COMPLETE	CREDITS	CHANGES	
\$522,185.85	\$0.00	\$0.00		\$45,407.47	\$ <del>5</del> 67,583.92	\$0.00	\$0.00	
7.522, 82			*.	1.76 Sec.		•		_

	CC 31.	DC:
Š.	\$\tag{4}	# 1 m
. S	) 308	
	78.	

								28 2	27 2	26 2	25 2	24 2	23 2					18 2					13 2	12 2	ě	10 2	9 2	8 2	7 2	6 2	5 2	4 2	3 2	2 2	1 1	ITEM OD	
		_ `		AOA 4 " Concrete Walk	606 Anchor Assembly, MGS Type T	606 Anchor Assembly, MGS Type E-98	606 Guardrail, Type MGS		209 Preparing Subgrade For Shoulder Paving, As Per Plan	206 Pre-Grind, 12 Inches Deep (Min)	206 Mixture Design For Chemically Stabilized Soils	206 Cement Stabilized Subgrade, Extra Volume	206 Cement Stabilized Subgrade, 12 Inches Deep (Min)			204 Subgrade Compaction	204 Proof Rolling			203 Embankment, As Per Plan							202 Guardrail Removed		202 Concrete Barrier Removed	202 Steps Removed				201 Clearing And Grubbing, As Per Plan	103 Contract Performance Bond and Premium	ODOT DESCRIPTION NO. OF ITEM	
0		0.0	0	0.0	0	0	0.0	0.0	0.0	0.0	0	0.0	0.0	0.0	0.0	0.0	0.0	0.0	0.0	38.0	0	14	49	0	162	10	0	1594	0	0	0	0	ω	0.85	ب	ACTUAL QUANTITIES	
EACH		MGAL	EACH	SF	EACH	EACH	111	YS	STA	ΥS		СУ	SY	NOT	SY	SY	HOUR	CY	CY	CY	SF	FEET	FEET	FEET	FEET	EACH	FEET	FEET	FEET	LUMP	SF	ΥS	EACH	LUMP \$	D		
	\$500 00	\$500.00	\$25.00	\$10.00	\$1,200.00	\$2,800.00	\$17.00	\$10.00	\$55.00	\$2.00	\$15,928.00	\$5.00	\$3.00	\$154.00	\$1.00	\$1.00	\$100,00	\$10.00	\$10.00	\$12.00	\$50.00	\$22.00	\$10.00	\$55.00	\$13.00	\$485.00	\$3.00	\$8.00	\$8.00	\$1,500.00	\$2.00	\$12.00	\$575.00	\$70,389.90	\$35,000.00	UNIT BID	
	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0,00	\$0.00	\$0.00	\$456.00	\$0,00	\$308.00	\$490,00	\$0.00	\$2,106.00	\$4,850.00	\$0.00	\$12,752.00	\$0.00	\$0.00	\$0.00	\$0.00	\$1,725,00	\$59,831.42	\$35,000.00	TOTAL BID	
era Biblion								Name of the Samuel												38		14				2		157					_	0.05		_	
	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$456.00	\$0.00	\$308.00	\$0.00	\$0.00	\$0.00	\$970.00	\$0.00	\$1,256.00	\$0.00	\$0.00	\$0.00	\$0.00	\$575.00	\$3,519.50	\$0.00	100% HV	
																	Marien warren or		BAR NEW THE STATE OF	***************************************	-				118.00	7.00		789.00					2.00	0.40	0.50	PAR	
	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$1,534.00	\$3,395.00	\$0.00	\$6,312.00	\$0.00	\$0.00	\$0.00	\$0.00	\$1,150.00	\$28,155.96	\$17,500.00	PARTICIPATION HV	
																							49.00		44.00	1.00		648.00						0.40	0.50		
4 1 1 1 1	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$ 000 000	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$490.00	\$0.00	\$572.00	\$485.00	\$0.00	\$5,184.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$28,155.96	\$17,500.00	RT	
,	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	38.00	0.00	14.00	49.00	0.00	162.00	10.00	0.00	1594.00	0.00	0.00	0.00	0.00	3.00	0.85	1.00		
8	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0 0	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	% QUANTITY CHECK	

Construction Cost MOU
Pay Application No. 1
2 of 4

72	71	70	69	68	67	66	65	64	63	62	61	60	59	58	57	56	55	54	53	52	51	50	49	48	47	46	45	44	43	42	41	<b>4</b> 0	39	38	37	NO.
611 Cuyahoga County Catch Basin CB-3C	611 24" Conduit, Type B	611 24" Conduit, Type A	611 18" Conduit, Type D	611 18" Conduit, Type C	611 18" Conduit, Type A	611 15" Conduit, Type D	611 15" Conduit, Type A	611 12" Conduit, Type D	611 12" Conduit, Type C	611 12" Conduit, Type B	611 12" Conduit. Type A	611 6" Conduit, Type F	611 4" Conduit, Type E	605 6" Base Pipe Underdrains, As Per Plan	605 6" Conduit, Type F For Underdrain Outlets	602 Full Height Headwall, As Per Plan	602 Concrete Masonry	832 Stormwater Pollution Prevention Plan	832 Rock Ditch Check, Type C With Filter		832 Inlet Protection, As Per Plan	832 Construction Seeding And Mulching	832 Perimeter Filter Fabric Fence		659 Mowing	659 Water	659 Lime	659 Commercial Fertilizer		659 Repair Seeding And Mulching	659 Topsoil, Furnished And Placed	659 Soil Analysis Test	659 Seeding And Mulching Class 1	601 Rock Channel Protection, Type C With Filter	SPECIAL Mailbox Removed And Reset	ODOT DESCRIPTION NO. OF ITEM
თ	50.0	80.0	0.0	0.0	196.0	0.0	708.5	729.0	47.0	659.9	0.0	0.0	0.0	0.0	0.0	0	13.0		0.0	0	4	0	1035	0		0.0	0.0	0.0	0	0	0.0	0	0	32.4	0	ACTUAL QUANTITIES
EACH \$	FEET	FEET	FEET	FEET	FEET	EACH \$3	CY \$	LUMP \$19		FEET	EACH	YS	FEET	SY	MSF		ACRE	NOT	SY	SY	СҮ	EACH	SY	CY	EACH											
\$2,500.00	\$80,00	\$86.00	\$72.00	\$72.00	\$79.00	\$76.00	\$83.00	\$72.00	\$72.00	\$72.00	\$79 00	\$7.00	\$6.00	\$11.00	\$8.00	\$2,000.00	\$1,000.00	\$15,000.00	\$100.00	\$7.00	\$85.00	\$0.70	\$2.00	\$2.00	\$2.00	\$50.00	\$100.00	\$350.00	\$0.50	\$1.00	\$15.00	\$375.00	\$1.00	\$100.00	\$125.00	UNIT BID
\$15,000.00	\$4,000,00	\$6,880.00	\$0.00	\$0.00	\$15,484.00	\$0.00	\$58,805.50	\$52,488.00	\$3,384,00	\$47,512.80	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$13,000.00	\$15,000.00	\$0.00	\$0.00	\$340.00	\$0.00	\$2,070.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$3,240.00	\$0.00	TOTAL BID
တ	50						83	66		550.9							1.5				4		35											6.7		100
\$15,000.00	\$4,000.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$6,889.00	\$4,752.00	\$0.00	\$39,664.80	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$1,500.00	\$0.00	\$0.00	\$0.00	\$340.00	\$0.00	\$70.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$670.00	\$0.00	100% HV
		40.00			98.00		313.00	342.00	47.00	109.00							5.70	0.50					500.00											12.80		PART
\$0.00	\$0.00	\$3,440.00	\$0.00	\$0.00	\$7,742.00	\$0.00	\$25,979.00	\$24,624.00	\$3,384.00	\$7,848.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$5,700.00	\$7,500.00	\$0.00	\$0.00	\$0.00	\$0.00	\$1,000.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$1,280.00	\$0.00	PARTICIPATION HV
		40.00			98.00		312.50	321.00									5.80	0.50					500.00											12.90		
\$0.00	\$0.00	\$3,440.00	\$0.00	\$0.00	\$7,742.00	\$0.00	\$25,937.50	\$23,112.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$5,800.00	\$7,500.00	\$0.00	\$0.00	\$0.00	\$0.00	\$1,000.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$1,290.00	\$0.00	RT
6.00	50.00	80.00	0.00	0.00	196,00	0.00	708.50	729.00	47.00	659.90	0.00	0.00	0.00	0.00	0,00	0.00	13.00	1.00	0.00	0.00	4.00	0.00	1035.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	32.40	0.00	
0.00	0.00	0.00	0,00	0.00	0.00	0.00	0.00	0.00	0.00	0,00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0,00	0.00	0,00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	% QUANTITY

Construction Cost MOU
Pay Application No. 1
3 of 4

NO. NO.  73 611 Catch Basin, No 6  74 611 Catch Basin, No 2-2A  75 611 Catch Basin, No 2-2B  76 611 Catch Basin, No 2-3  77 611 Manhole No 3  78 611 Manhole Adjusted To 6  79 611 Manhole Reconstructe	DESCRIPTION OF ITEM  Catch Basin, No 6 Catch Basin, No 2-2A Catch Basin, No 2-2B Catch Basin, No 2-3 Manhole No 3 Manhole Adjusted To Grade Manhole Reconstructed To Grade	ACTUAL QUANTITIES 0 EAC 1 EAC 3 EAC 0 EAC 7 EAC 0 EAC 0 EAC	TIES EACH EACH EACH EACH EACH EACH	\$2,500.00 \$2,500.00 \$2,500.00 \$2,700.00 \$2,700.00 \$3,100.00 \$3,100.00 \$1,000.00	TOTAL BID \$0.00 \$2,500.00 \$7,800.00 \$0.00 \$21,700.00 \$0.00 \$0.00	7	100% HV \$21	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$21,700.00 \$0.00 \$0.00	PART 1.00 1.50	PARTICIPATION HV \$0.00 00 \$2,500.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	1.50	RT \$3.	\$0.00 \$0.00 \$0.00 \$0.00	0.00 1.00 3.00 0.00 7.00 0.00	888888
SPECIAL	Miscellaneous Metal Pavement Repair As Per Plan	0	SA	\$2.00	\$0.00	210.3		\$0.00 \$14 721 00		\$0.00			A 49	\$0.00	
301	3" Asphalt Concrete Base, PG64-22, As Per Plan	000	Q :	\$105.00	\$0.00	7		\$0.00		\$0.00			<del>60</del> 6	\$0.00	0.00
301	3" Asphalt Concrete Base, PG64-22. As Per Plan (Drives)	0.0	СА	\$203.00	\$0.00			\$0.00		\$0.00			40	\$0.00	* PS ** *******************************
	Aggregate Base (Drives). As Per Plan	0.0	СА	\$60.00	\$0.00			\$0.00		\$0.00			40	\$0.00	
	6" Aggregate Base, As Per Plan	0.0	СА	\$60,00	\$0.00			\$0.00		\$0.00			69	\$0.00	1.00
305	Concrete Base Misc.: 6" Concrete Base, Class QC MS	0.0	SY	\$72.00	\$0.00			\$0.00		\$0.00			60	\$0.00	
87 407 Tack Coat		0	GAL	\$2,00	\$0.00			\$0.00		\$0.00			₩	\$0.00	0.00
	Type R PC76,22M	0.0	СА	\$173,00	\$0.00			\$0.00		\$0.00			8	\$0.00	0.00
441	oncrete intermediate course, type 2, (446), FGG4	0.0	CY	\$115.00	\$0.00			\$0.00		\$0.00		mit Addison sellel fil	₩.	\$0.00	
	1.23 Asplian Concrete Surface Course, Type 1, (446), FGG4-	0.0	СА	\$250.00	\$0 00			\$0.00		\$0.00			\$	\$0.00	.00 0.00
44	Asphair Concete Interineutate Course, type I. (440) (As Directed But The Engineer I'' Min.) PC642-22 1./3 Asphair Concete Intermediate Course, type 2, (448),	0.0	१ २	\$200.00	\$0.00			\$0.00		\$0.00			88	\$0.00	
	PCR4-22 Aspirali Concrete Surface Course, Type 1, (448), PG64-22	0.0	2 5	\$250.00	\$000 000			\$0.00		\$0.00			9 6	\$0.00	000
452	6" Non-Reinforced Concrete Pavement, Class QC MS	0.0	ΥS	\$65.00	\$0.00			\$0.00		\$0.00			<del>\$</del>	\$0.00	
95 609 Curb, Type 6, As Per Plan	. As Per Plan	0.0	FEET	\$14.00	\$0.00			\$0.00		\$0.00			\$	\$0.00	0.00
96 609 Curb, Type 6,	Curb, Type 6, 8 Inch Reveal. As Per Plan	0.0	FEET	\$14.50	\$0.00			\$0.00		\$0.00			\$0	\$0.00	0.00
97 609 Curb, Type 2A (Drives)	A (Drives)	0.0	FEET	\$17.00	\$0.00			\$0.00		\$0.00			\$	\$0.00	0.00
98 617 Compacted A	Compacted Aggregate, As Per Plan	0.0	CY	\$50.00	\$0.00		-1001	\$0.00		\$0.00			8	\$0.00	0.00
99 875 Longitudinal J	Longitudinal Joint Adhesive	0	LBS	\$2.00	\$0.00			\$0.00		\$0.00			\$	\$0.00	0.00
100 SPECIAL Salvaged Brick Pavers	ck Pavers	0.0	SY	\$51.00	\$0.00			\$0.00		\$0.00			\$	\$0.00	0.00
638	12 - Water Main Ductile Iron Pipe, With Push-On Joints And Refained Mechanical Fiftings - Ansi Class 52	0.0	FEET	\$155.00	\$0.00			\$0.00		\$0.00			\$	\$0.00	0.00
638	Removed	0	EACH	\$800.00	\$0.00			\$0.00		\$0.00			\$	\$0.00	0.00
103 638 Valve Box Ad	Valve Box Adjusted To Grade	0	EACH	\$75.00	\$0.00			\$0.00		\$0.00			8	\$0.00	0.00
638	vvater work, wisc∵ vvater mannore Adjusted To Grade (Clevreland)	0	EACH	\$675,00	\$0.00			\$0.00		\$0.00			8	\$0.00	0.00
105 638 12" Cutting-In	12" Cutting-In Sleeve, Valve And Valve Box, Complete	0	EACH	\$1,600.00	\$0.00			\$0.00		\$0.00			\$	\$0.00	0.00
106 SPECIAL PUTRISRING AT	nd Setting Serrydrant Complete, vvitin Permanent	0	EACH	\$8,100.00	\$0.00			\$0.00		\$0.00			\$0	\$0.00	
107 SPECIAL Fire Hydrant /	Fire Hydrant Adjusted To Grade	0	1	3 200 00						•			?	00	
108 SPECIAL Extend/Shorten And Adjust Hydrant To Grade, Straight Type			EACH	\$1,000,00	\$0.00			\$0.00		\$0.00			_		hadd to seems



			Agency	By:	Date					134	133	132	131	130	129	128	127	126	125	124	123	122	121	120	119	118	117	116	115	114	113	112	111	110	109	ITEM No.
			Q.		5555	>				624	623	619	614	616	410	203	SPECIAL	SPECIAL	518	503	644	644	644	630	630	630	630	630	630	630	630	620	SPECIAL	SPECIAL	SPECIAL	ODOT
			Cay, Ciato Fyrner	Maples J. Jons	THE OCH!					Mobilization	Construction Layout Stakes and Surveying	Field Office, Type A	Maintaining Traffic	) Water	Traffic Compacted Surface, Type A or B	Granular Embankment, Type F	_	AL Staining Wall, MISC. Stone ESSENCE POST CONSTRUCTION WAIL		Unclassified Excavation	Stop Line	Center Line	Edge Line, 4"	Removal of Pole Mounted Post Sign And Disposal	Removal of Ground Mounted Post Support And Disposal	Removal of Ground Mounted Sign And Disposal	) Sign, Flat Sheet	) Sign Post Reflector	) Street Name Sign Support, No 3 Post	Ground Mounted Support, No. 3 Post	Ground Mounted Support, No. 2 Post	_	AL Complete	_	NATION AND A CHARGES AND	
										0.9	0.65	0.0	0.5	8.0	0.0	0.0	0.0	0.0	0.0	0.0	0.0	0.00	0.00	0	0	0	0.0	0	0.0	0.0	0.0	0	0	0	_	ACTUAL QUANTITIES
										LUMP :	LUMP	MONTH	LUMP :	MGAL	СХ	СХ	SF	SF	cy	CY	FEET	MILE	MILE	EACH	EACH	EACH	SF	EACH	FEET	FEET	FEET	EACH	EACH	LUMP	LUMP	AL AL
				Less		TOTAL				\$76,226.00	#######################################	\$875.00	\$39,619.00	\$35,00	\$25.00	\$60.00	\$74.00	\$3.00	\$60.00	\$18.00	\$7.00	\$5,000.00	\$2,800.00	\$11.00	\$6.00	\$11.00	\$15.00	\$25.00	\$11.00	\$10.00	\$9.00	\$25.00	\$875.00	\$2,500 00	\$9,284 00	UNIT BID
		Pay 1 Actual		Less 8% Retainage	Pay 1 Earned	\$567,623.82				\$68,603.40	\$68,203.20	\$0.00	\$19,809.50	\$280,00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0 00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0 00	\$0.00	\$0.00	\$0.00	\$9,284.00	TOTAL BID
										0.14	0.07		0.04																		POD - 500**********************************				1.0	
	PAY THIS AMOUNT	\$3	100% HV	\$133,654.53		\$145,276.66	\$0.00	\$0.00	\$0.00	\$10,671.64	\$7,344.96	\$0.00	\$1,584.76	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$9,284.00	100% HV
		\$337,518.55								0.38	0.29		0.23	4.00																						PART
	TNU	3	ΗV	\$203,864.02	\$567,623.82	\$221,591.33	\$0.00	\$0.00	\$0.00	\$28,965.88	\$30,429.12	\$0.00	\$9,112.37	\$140.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	PARTICIPATION HV
		+								0.38	0.29		0.23	4.00																						
AMOUNT	PAY THIS	\$184,695.36	RT	\$184,695.36		\$200,755.83	\$0.00	\$0.00	\$0.00	\$28,965.88	\$30,429,12	\$0.00	\$9,112.37	\$140.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	RT
		11								0.90	0.65	0.00	0.50	8.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	1.00	
		\$522,213.91		\$522,213,91		\$567,623.82	Pose a sel faible				0.00	0.00	0.00	0.00		0.00	0.00	0.00														0.00				% QUANTITY CHECK